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QUESTION 1

For a full-merge join which of the following are TRUE? (Choose 2)
A. Sort inner table in join order, then merge with left outer table

B. Tables being joined have useful indexes on join columns

C. Sort outer table in join order, then merge with the right inner table
D. Sort both tables,then merge

E. Tables do not need to be sorted but can be merged using indexes

Correct Answer: BE

QUESTION 2

Which system table contains a row for every transaction log fragment?
A. sysdatabases

B. sysusages

C. sysdevices

D. syslogs

Correct Answer: B

QUESTION 3

The proc_role function

A. allows a role to be set in a storedprocedurE.

B. returns a 1 if the user possesses the givenrolE.
C. returns a 0 if the user possesses the givenrolE.
D. allows the System Security Officer to set arolE.

Correct Answer: B

QUESTION 4
What is the system stored procedure used to display metadata cache usage statistics?

A. sp_configure
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B. sp_helpconfig
C. sp_cacheconfig
D. sp_monitorconfig

Correct Answer: D

QUESTION 5

What happens when a row is inserted into a list partitioned table but the key value is not within the list?
A. The row is inserted into the first partition.

B. The row is inserted into the last partition.

C. The insert fails with an errormessagE.

D. The insert is discarded without an errormessagE.

Correct Answer: C
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